Type IV Method

In type of questions a statement foliowed by
two arguments is given, The candidates have to
decide which of the arguments on the bagis ot the
swatement 1$ strong and which one is weak, Before
answering the questions, it is necessary 1o
understand the conception about Lthe strong and
weak arguments. Strong arguments are both
important and directly related to the guestion,
while weak argument 1s of minor importance and
is related (o the trivial nypect of the question. The
following example will ilustrate the idea clearly

Example: In the following question a statement
is followed by twoe arguments ({) and ({1). You have
te decide which of the arguments 1s strong and
which is a weak arqument. Give answer (a) if only
argument (I} is strong; (b) if only argurment (11} is
suong; (o) ifeither (D) or (J1) 1s strong: (d) if neither

(D nor (1) is strong and (e) if both (1) and (II) arc-

atrong. ;
Statement: Should education be given by
the governmen: free of
charge, )
Argumeats: ([} Yes, Thus more public will
be educared.

(I Nu, There will be a deficient
in the budget of the
govemment.

Answer with Explanation (@): By giving tie
education free of charge, many such people, who
are unable to go to schools due Lo lack of maney,
will also begin (o go to schools and thus more
public will be educated. Hence argument (1) is
strong. Now consideving (the argument (II), it is
also true that the money which is oblained as {ze
from education, will not be available to. the
government and so Lhere will be a deficient in the
buriget of the government. Therefore, argument (1)
ts also strong

- Directions (Q. 1-5): Kach question given below
is followed by two arquments numbered (I} and
(11}, You have to decide which of the yrguments is
a strony argument and which is a weak argument,

(a) if only argument {I) is strong
(b) if only argqument (I1) is strong
(c) if either (I) or (11} is stromng
(d) it neither ([} nor (I} is strong
(@) if both ([} and (I} are strong

1. Should private sector be permitted to operate
telepbone setvices?

Arguments: () Yes They are operated in
advanced Western countries.

(I No, It is nsky to put them
in private hands,

2. Should India go in for computerisation in
industry?
Arguments:  (I) No, It will aggravote the
growing unemployment in
Indin,

(1) Yes, It will bring precision,
refinement and speed in
mduswial production.

Should articles of only deserving authors he

allowed to be published?

Arguments:  (I) Yes, It will save 2 lot of
paper which is in short
supply.

(IT} No, Tt is not possible to draw
a line batween the deserving
and the undeserving.

4. Should Scouts and Guides training be made
compulsory in schools?

Argaments: (I} Yes, This training will
develop descipline among
students.

(I} No, it will bring regiment-
ation in education

5. 'Should India go in for computerisation in

industry?

Arguments: (1) No, Compuierisation dernands
alot of money. We should not
waste moncy on it.

(10 Yes, When advanced

countries are introducing
computers in various areas,
how van India afford to lag
behind.

Directions (Q. 6-10): In each question there isa
statement lollowed by two arguments, [f argument
(I) is stong the answer is (a), if (1) is strong then
answer is (b). Give answer (¢) if both are scrong;
() if eicher (I) or (1) is stwong and (e) if none of the
o is strong. el s
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Should there be a world
government?

() Yes. it wiil help in
eliminating tensions among
the nations.

{I) No, then only the developed
countries will dominate in
e governmant.

Should the political parties
- be banned?

(I} Yes, il is necessary Lo teach
a lessen o the politicians.

(D Nu, it will lead to an end of
democracy.

6. Sumawement:

Argquments:

Arguments:

8. Statement;
marrisges be abolished?

() Yes, 1t is already showing
cracks.

() No, it s necessary for the
survival of the society.
Should the health care
service be natonalised?

(I) Yes, 1t has becn done
elsewhere alsn.

(II) No, the quality of health care
service will deteriorate.
Should election expensus Lo
central and state legislatures
be met by the govertnmeant?

(I} Yus, it will put an end 10
political corruption,

([I) No, it is not good in any
country.

Directions (Q. 11-15): In each of the following
questions gne statement is followed by two
arguments () and (). If only argument (1) is strong
then ansveeris (a) and it only {11} is strong then answer
is (b) Il both (1) and (II} are strong the answer is {¢).
Ifeither (1) or {I) is strong then the answer is (d) and
if none of the two s strong then answer is {(e).

11. Statement: The cducated people should

work in villages. -

Arguments:

9, Statcmeant:

Arguments:

10. Statement:

Arguments:

Arguments: (I} Yes. because thev can

revolutonrze agriculture and
revamp rural atmosphere
(1) No, the educated should be
employed in citles ouly,
hecause otherwise their
education will go waste.

Should the institution of

12. Statement: L Colour TV should be

introduced in India,

(I} Yes, because itis introducend
in forcign countries also.

(I1} No, India cannot aflord it
Guides published by private
ayencies should be banned.

(1) Yes, because oniy then the
students will start reading
Lext-houks.

() Ne, becuuse these are of
inmense help to the weak
students in the eleventh
hour.

The present day banking
needs computerisation,

{1} Yes, becauvse only then the
service to consumers can be
improved,

(11) No, it will deteriorate the
relations amonyg hank staff
Open book sysLem should be
intreduced in the
examinations.

(D Yes, because it will avord
Mass copying.

(IT) No, becouse then all students
will get 100% marks,
Directions (Q. 16-19): In each of these questions

one statement is followed by two arqumens (I

and (I}, onc supporting it and the other agamstit.

IFenly argument (I) is surong, then mark (a); if only

argurent ([T} is strong, then mark (b) and if both

the arguments (I} and (I} are streng then mark (e);

if either (1) or (1I) is & sirong argument then mark

(d) and if both (I} and (II) are weak srguments, then

mark (e) :

16. Statement: There was a directive
advocating that strikes
shouldse banned in India.

() Yes, because strikes lcad (o
loss of production which we
cannot aflond if our economy
is 1o be battered.

(i) No. because the employees
will loose their right Lo
strike for thoir just demands.
Agriculwure in vural India
should be mechanised.

Arguments:

13. Statement:

Arguments:

14. Statement:

Arguments

15, Statement:

Arquments:

| Arguments:;

17. Statement:
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{I) Yes. it would lead to higher
production.

(I) No, then many villagers

X would be left unemployed.

18. Statement: In Indian system of
Govarnmant, judiciary
should be independent of the
exccutive,

(I) Yes, becausc thon the
unlawful activities of the
executive would be curbed.

(1) Na, theo the
executive would not be able
0 take bold megsures.
Films should be brought to
cencurrent list.

{I) Yex, it will give respect 1o
the views of the staces,

(1) No, 1t will deterwrate the
standand of films,
Directions (Q. 20-24): In each of the questions

one statement is followed by twe argumonts (I)

and (I) onue suppurting il sod other againse it. If

only arqument (I) » swrony then mark (a); if enly

argument (1) is strong then mark (b). It either (1)

or (1D} is strong argument then mark (c). IMboth (1)

and [1) are weask then mark (d) and it both are strong

then murk (e).

20. Should colleges given the status of a

University in India,

(1) Yes, Cojlegos are in o better position to
assess the students’ performance through
the year and, therefore, the degrees will
be more valid.

(I No. It is Utopian to think that there will,
not be nepotism wnd corruption in
awarding degress by colleges.

21. Should workers be allowed to participate in

the management of factories in India?

() ves, Itis the present management theory,

(I} No, Many workers are illiterate. Hence
thelr vontribution will not he of value,

22. Should correspondence coursas at the

University level be discontinued in India?

(I Yes, They are of no good for students.

Arguments:

Arguments:

hecause

19. Statement:

Argumants:

(I} No, Such courses are very popular
amohy students.

23. Should smoking be strictly prohibited in
public places?

() Yes, Kven non-smokers after inhaling
tobacco fumes arc found to be sufiering
from cancer. )

(1) Mo, Smokers will demenstrate againsoit,

24. Should non-vegetarian food be totally banned
in our country?

D Yes, It mexpensiveand, theralore, itis beyond
the means of oSt people in our country.

(Il) Mo, Nothing should be banned in a
demaocratic country like ours. v

Directions (Q. 25-20): Each questicn below is
followed by two arquments numbered (I) and (11).

You have to decide which of the arguments is a
“strong™ arguement and which is a “wesk™ argument
Give answer (a) if only arqument ([) is strong; give
answar (b) T arguimant (II) is strong; give answer
(¢) if either (1) or (1I) is swrong,; give answer (d) il
neither (1) nor {Ii) is strong and give answer (e) if

both (1) and (II) are strong.
25. Should new big industries be established in
Mumbai?

(I} Yes, It will creata new job opportunitios
{Il) No, It will further add o the pollution of
the city.
26. Should all news be controlled by Government
in a democracy?
() Yes, Variety, of news only confuses people.
(I No, Canhiolled news loses credibility.
27. Should promotion of parsonnel in an arganisation
be made only on the basis of seniority?
{I) Yes, Ctherwise senior persons will becoma
will take less interest in their work,
(I No, It does injustice 10 tbhe really
deserving persons.
28. Should workers be allowed to participate in
the management of factories?
() Yes, It is one of the demands of werkers.
{IT) No. The management will oppose the idua,
29. Should colleges be given the status a university?
() Yes, Management of colleges will
., appreciate it.
(II) Ne, Colleges in western countrivs have
ot yae been given such a status,
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Directions (Q. 30-34): Each question helow is
fellowed by two arquments numbered (I} and (37),
You have to decide which of the arguments is a
stenng argument and which is o weak argument.
Give answer.

(a) if only-argument (1) is strong

() if onlv argument (1) is strong

(¢) it dither (1) or (11) strong

(d) if netther (! nor (I1) is strong

() if both {I}) and (11} aro strong
30, Should film magazines he banned?

(1) Yes, T'hey only indulge in gossip which
has baneful mfluence on the young readers.
(II} No, Why should they be banned?
31. Should there be a woman President in India?

(I) Yes. Then only the suffering of women
will ba stopped.

(I No. A woman is not capable of ruling a
vasicountry like India.
32. Should the parliament elections be held after
every 10 years?
{I) Yes, Thiswill save a lot of money in every
alternate five vear plan,
(I} No, Tho political party in power for a term
will exploit the time in their favour
33.  Shaild India go in far maldng nuclear war heads?
() Yes, Decause Pakiston nkso 's'doing thasame,
(N No, This will lead to nuclear war in the
continent.
34. Should political parties be banned from
taking out processions on the road?
([} Yes, This creates a great deal of inconve-
nience to the commuten.
(1) No, Citizens bave right to demenstrate
their protests by wking nul processions,
Diroctions (Q. 25-39): Each guesrions is
followed by two arguments. Answer (a) ifargument
(1) ts strong and (b) if argument (11} is strong; {c) il
erther (I} or (1) is steong (d) f neither (T} nor (11) s
strong and (e) i hath (1) and (I1) are strong
35. Should new big industries be started in
Mumbai?
M Yes, [t will create now job opportunitivs,
(1) No, It will further add Lo the pollution of
the city

36. Should all news be controlled by Government
is a democracy? ‘
I) Yes, Variety of news only confuses people,
© {1} No, Controtled news losses credibility.
37. Should sex-cducation be given in schools?
(I} Yes, It is given in schools in the D.8.A,
(ID No, Itis naturally gained as c.lnldmn grow
into dadules.
33. Should foreign films be banned in India?
() Yes, They depicit an alien culture which
advarsely affacts our values.
(II) No, Foroign films are of a high artistic
~ standard,
39. Should personal tax be abolished in India?
(D Yes, v will motivare people to earn more,
(I} No, individuals must learn to share their
wealth with other peopla.
‘Directions (Q. 40-44): In wach question below
s given g question and two arguments (1) and (11},
" Giveanswer:
(@) il only argument (1) is strong
() il only argument (1) is strong
(c) if either (1) or (I1) is strong
(@ if neither (I) nor (I1) is suong
{e) if both {I) and (II) are streng. E
40, Should religion ba banned?
(1) Yes, [t develops fanaticism in paople.
{l1) No, Religion binds people togethur.
41. Shouid there be a complete ban on strike by
government employees in India?
{I) Yes. This is the only way to teach
discipline to the employees.
(iI) Ng, This deprives the cilizens of their
democratic rights.
42, Should India manufacture atom bombs?
{I) Yes, It is imperative o protect the
sovereignty and inteqrity of the country.
(I} No, This will create imbalance in the
power of nations in this region,
43. Should smoking be prohibited?
(N Yes, It is wrong to smoke away millions
of good munay
(In No, [t will chrow thousands of worker in
the obucco industry out of cmployment.
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44, Shovld sdlection tests be of the objective
rather than of the descriptive type?
(I} Yes, The assessmant of answers to objoctive
type guesuons is fair and imparnal.
(1) No. The descriptive type test is cermunly
a beuer weol than the objective type test.
Directions (Q. 45-52): Each question below is
followed by two arguments numbered (1) and (I1)
You have to decide which of the arguments is a
“strong” arqument and which is a."weak” argument.
Give answer (a) il cnly argument (I) is strong; given
answar (b) if only aorgument (II) ik streng; give
answer (c) if either ([} or (11} is strong; give answer
(d) 1f neicher (I) nor {ID is strong and give answer
{e) if both {[) and (I) are strong.
45. Should English be the medium of instruction
for higher education in Indiu?

() Yes, cven in advanced countrics like
England and U.S.A the medium of
instruction s English for higher ed ucalion.

(I Yes. English »s a much widely spoken
lang'uage in the wurld wday

46. Should smoking be strictly prohibited in
public places?

1) No, it will adversely affect the tobuacco
indusery.

(I No, i will b rasentad by smokers.

47. Should the practice of interviewing candidaces
in a selection procedure be altogether
dispensed with?

() Yes, itis a time consuming pracrice,

(Th No, it gives an excellent opporiunity o
the employer as well as the candidale to
meet in person and discuss freely.

48. Should non-vegetariun foud be totally banned
in our country?

) Yes. greatinen like Mahatina Gandhiand
Bernard shaw were vegetarian.

(if) Yes, it is expensive and therefore it is
beyond the means of most people on our
country.

49. Should income tax be evaded by people?

(I} Yes, taxes are excessively high

(Il_) No, ir'is anti-national to do se.

50. Should India have no military force at all?
() No, other countries in the world do not
kelieve in non-viclence
(1i) Yes, many indians believe in non-viclence.
51. Should sales tax be abolished?
(M Yes, it will eliminate an iraportant sousce
of corruption. .

. () Yes, it will bring the prices of
commeodities down and hence benefit the
CONSUIMEs.

52. Should jobs be delinked with academic
degrees and diplomas?
() No, a very large number of persons with
merit academic qualifications will 2pply.
(M) No, importance of higher education will
be diminished,

Directions (Q. 53-57): Each guestion below is
followed by two arguments numbered (I) and (II}.
You have to decide which of the arguments is »
“strong” argument and which is a “weak™ arqument.
Give answer (a) it only argument (I) is strong: give
answer (b) if argument {I1) is stwony; give answer
(c) il wither (I} or (II) if strong, give answer (d) if
neither (I) nor (JI) is strong and give answer (e} if

both (I} and {IT) are strong.
53. Should home wark of students bhe abalished
in schools?
() Yes, it will relieve teachers burden of
assessment.
{I) No, students must learn to observe

instructions, )
54 Shauld new big industries be starced in Mumbai?
(D Yes, it wilt create new job opportunities.
(I No, it will further add to the pollution of
* tha city. '
55. Should smoking be prohibited in all public
places?
(I} Yes, it will give non-sroking fresh air
to breathe.
{11} No, 1t will curb smokers, freedom to
smoke when he feels like smoking.
56. Should loyalty be the only criterion for
promotion in any organisation?
() Yes, withourt loyal men no organisation
con function, 7 !

(I No, it leads to hypocrisy and partiality.
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57. Should personal tax be abolished in India?
(1) Yes, it will mouivate people to garn move.

{11) Nu, individuals must learn 1o share their
wealth with other prople.

Directions (Q. 58-62): Each of the questions is
followad by twe an_qumeius (D) and (11}. You have to
decide which of the arguments i a strong angument
and which 15 @ weak argument. Give answer (a) if
only argument (I) is sueng; (B) if only argument
{11} is swong; (c) if eicher (1) or (1) is strong, (d)} if
neilher {I) nor (I) 1s strong and (e} it both ([} and
an are strong.

58. Should enthanasia i.e. Killing be allowed?

(1) Yes. therc is no point in keeping & person
alive when there is no hope of active life
for him.

(U} Ne, according to the law of the country,
nobrody has the right Lo kill a pecson.

59. Should.academicians be debarved from joining
active politics in [ndia?

(I} Yes, they are not geod at politics.

() No, this is against the riglus of a citizen
in a democratic countey tike India,

60. Should there be only one university
throughout India?

(I} Yes, this is the only way to bring about
unifoninity in the educational standayds.,

(I) No. this is administratively impossible.

61. Should state Jottcrics be stopped?

I} Yes. goveroment should not promore

gambling habirts.

(I No. government will lose & lurge amount
of revoenue.

62. Should telecasting feature films be stopped?

(I) Yes, young children ave misguided by the
faature films.

(1) No, this is the onky vary W educite’the nusses.

Directions (Q. 63-67): Fach question below i
followed by two arguments (I} and (II}. You have o
decide which of the given arguments is a “strong”
argument and whicleis “weak” argument,

Give answer (a) if only argument (I) is strong:
give answen (b) il vnly argument (I1) is strong; give
answer (c) if either (1) or (1) is-strong; give answer
(d) it neither (I) nor (I} 1s strong, and give answer
(e) if both (I) and (IT} are swrong. .

53. Should strikes in the field of education be banned?
(M) Yas, it 1 aguinst prefessional ethics
() Yes, it affects the students adversely.
64. Should higher education be restricted only to
the most deserving ones?
(1 No, itis against the ponciple of democracy.
{1} Yes, only descrving people are entitled
o this luxury.
65. Should military service be made compulsory
in our country.
{) No.1itisagains: the policy of nonviolence
(I Yes, every citizen should protect s counry.,
66. Should young entrepreneurs be encouraged.
() Yes, that will help in industrial
deveiopment of the country
(fT) Yes, that will reduce tha burden on the
cruployment market,
87. Should India manufacture computers?
(0 Yes, why not? '
D No, we do not have the technical axpertisa,

Directions (Q. 68-70): Each question below is
followed bw two arguments (I) and (1I). You have to
deride which of the given argumonts is streng and
which onc 1s woak.

Give answer (a) if only acgument (1) is strong;
give answer (b) if onlv argument (II) is strong; give
answer () if either {I} or {II) iy strong; give answer
{(d) if neither (1) nor (II) is strong and give answer
{e) if hoth (1) and (I} arc strong.

68. Should religion be taught in our schools?
(I} No, curs is a szcular state.
(1) Yes, Leaching religion helps indulcate
moral values among children
69. Should compatitiva examinations for
selecting candidates for jobs consists of
objective test only?
(I) Yes, the assessment of objeclive tests is
reliable.
(I) No, the number of guestions te be
answered is always very large.
70. Should correspondence courses at university
level be discontinued?
(I} No, because such courses arc there in
advanced countries like G. S, A,
(ID Yes, it will sukstanually lessen the
burden of the postal depariment.
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Answers with Explanation

{c}

(@)

(b)

@

(d) :

{) Only assumprtion (II) support the statement
because if there is only a world government
then the government is under the rich and
developed countries and other countries
would foliowed their laws.

(e) If the political parties are banned then
there will be no democracy in the country.
The counrry will remain as socialistic. All
the things go under the Government. People
have no freedam and do the work according
to Government.

(b) For thc survival of the society Lhe
institurion of marriages shouid not be
abolished. So the argument (II} supports
the statement.

(e) Nene of the arguments support the
statement. If the health care service be
nationalised then it is not necessary that
the care service will deleriorate. It may
aven helpful for the health care service, and
it is also not necessary that it has been
nationalised elsewhere.

. {a) Only anguments (1) support the statement.

If the Government mel Lthe glectivn

expenses then the political partics would

not spend any money in election. As the
parties who are rich spend morg money in
copvessing, banners efc. to support the

11,

1z2.
13.

SBABEBBRBEE S

position while other parties are not able
to meet these facilities. So the election
expenses be met by the Government to put
the political curruption to an end.

{a) By wourking the educated pedple in
villages, their education will not be wasted
but there will be the proper use of their
education. On account of their education
they will revolutionize agriculture and
revamp rural atmosphere.

(©

{b) It is not necessary that students will start
reading Lextbooks when guides are banned.
But it is definite thar guide books are of
immense help to weak students because
bv these they get two much in short time.

{e) 15. (e} 16. {d) 17. (a)

{a) 19. (a) 20. (d) 21. (b}

. (b) 23. (1) 24. (b) 25. (¢}

(b) 27. () 2B @  29. (e
@ 31 (d 32. (b) 33. (b)
@ 35 (&) 3B (b) 37. (d)
d) 39.(d) 40. (&) 41. (b)
@  43. (d) 48. (a)  45. (b)
) 47. () 48. (d) 49. (b)
@) 51. (@  52. (b)  53. (b)
@ 55 (d 56 (d) 57. (@
@) 59. (d)  60. (b) Bl (d)
@  63. (b) 64. (@ 65 (b)
{e) 87. (d) 68. (b) 89. (a)
(d)






